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 Quiz 2
Topic: Data Representation

1 a) 
[image: A close-up of a form

Description automatically generated]
b)
[image: A black text on a white background

Description automatically generated]
c)
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[image: ]
image1.png
The two binary integers 00110000 and 01100110 are added together.

‘Add the binary integers using binary addition and show your answer in binary. Show all your
‘working.
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Binary is a base 2 number system.
(a) Give the name of the number system that is base 16.
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(c) Alogical left shift of two places is performed on the binary number stored in the register.

Complete the binary register to show its contents after this logical left shift.
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(d) The negative denary number —99 needs to be stored in the register.

Complete the register to show the binary number that would be stored, using two’s
complement. Show all your working.
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(e) The number 01001100 is added to 11100011
Add the two 8-bit binary numbers, using binary addition.

Give your answer in binary. Show all your working.
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